
اول دبیرستان

دفترچه ی سوالات آزمون پیشرفت تحصیلی

مواد امتحانی

ادبیات

عربی

دین و زندگی

زبان

ریاضی

علوم زیستی و بهداشت

فیزیك

شیمی

15

10

10

10

15

15

15

15

تا شمارهاز شمارهتعداد سوال

1

16

26

36

46

61

76

91

15

25

35

45

60

75

90

105

105تعداد سوال:                                                                                           مدت پاسخگویی: دقیقه 105

نام ونام خانوادگی داوطلب:                                                                      شماره داوطلبی:

1391/12/7تاریخ برگزاری آزمون 
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36- Mary: "I'm really hungry now."
Richard: "That's because you left your lunch half."

1) Mary didn't eat her lunch. 2) Mary didn't eat all her lunch.
3) Mary ate only half his lunch. 4) Mary went away, left him alone.

37- Which word has a different vowel sound?
1) book 2) food 3) boot 4) tooth

38- A: "Why don't you eat your lunch? Don't you like pizza?"
B: "Well, I'd like to eat ........................  but Italian food."

1) enough food 2) anything else 3) good enough 4) somewhere else
39- On her ........................  Japan, Mary started a new school in her country, Canada.

1) return from 2) travels in 3) return to 4) leave for
40- A: "What ........................  your father ........................  ?" B: "Well, he's tall. And he's got black hair."

1) does – look likes 2) does – looks like 3) does – look like 4) did – look like 
41- Which word has a different vowel sound?

1) hut 2) but 3) cut 4) put
42- Ben works as a farmhand in the ........................ .

1) farm 2) field 3) zoo 4) land
43- Teacher: "My class starts at 7:30 am. So you ........................  come here ........................  ."

1) have to - before 7:30 2) mustn't – before 7:30
3) shouldn't – before 7:30 4) had to – after 7:30

44- Robert is a clever boy. He plays the piano ........................  his piano teacher.

1) much well 2) as good as 3) much better 4) as well as
45- A: "Which car can I buy?" B: "........................, I think."

1) The cheap 2) That cheaper 3) The cheapest 4) This cheap
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